¢ Answers $

Theme 1: Why Do We Need Land? © b, 20,21,31,323>21,19,23,524 > 5,23,33,642 >
Lesson-1: Large Numbers : 5,21,31,202
. ¢ 9. a. 18,000,000 b. 76,005,002
Main Coursebook © . o8357,.2u8
Kinaesthetic : 10. a. Fifty-eight million one hundred
Accepf O” relevonf responses' E TWenTy—three ThOUSGnd seven hUndred TWenTy—SiX
Auditory b. Twenty-nine million seven hundred seventeen
1.4 2.4 : thousand two hundred twenty-two
Pictorial : c. Forty-nine million one hundred eleven thousand
1. : two hundred eight
i : d. Nine hundred ninety-nine thousand nine
hundred twenty-one
] : Understanding better (page 10)
. L No 2. No
1.
Numbers Indian system Number names
e . . Four crore fifty-three lakh
45393738  4,53,93,738 ninety-three thousand
seven hundred thirty-eight
: Nine crore eighty-one
2. XXV . 9812u670  9,81,24,670 lakh twenty-four thousand
Interactive better : Ni six hund;ed vae.mly Kh
N INne crore twenty-six la
Accept all relevant responses. , 2663212 9,26,63°212  sixty-three thousand fwo
1. a. 99,87,509 - Ninety-nine lakh eighty-seven : hundred twelve
thousand five hundred nine Eight crore twenty
b. 3,41,82,117 — Three crore forty-one lakh eighty- ¢ 82006210  8,20,06,210 lakh six thousand two
two thousand one hundred seventeen : hundred fen
c. 8,79,61,53U - Eight crore seventy-nine lakh sixty- Numbers International Number names
one thousand five hundred thirty-four : system
d. 8,95,33,u82 — Eight crore ninety-five lakh thirty- : Forty-five million three
three thousand four hundred eighty-two 145393738 15,393,738 hundred ninety-three
2. a. 52,00,300 b. 1,87,00,009 . thousand seven hundred
,00, ,0/,UU, . thirty-eight
c. 7,11,002 d. 70,01,005 Ninety-eight million one
Understanding better (page 7) 98124670 98,124,670 hundred twenty-four
1. 9999999 2. 10000000 . thousand six hundred
3. a. 30,00,000 + 4,00,000 + 20,000 + 6,000 + 100+ 0 + 6 : Nmewffvjs%ion i
b. 80,00,00,000 + 1,00,00,000 + 0 + 2,00,000 + 50,000 hundred sixty-three
+0+700+30+2 42663212 92,663,212 thousand two hundred
c. 70,00,000 + 5,00,000 + 80,000 + 1,000 + 300+ 0 + 0 : twelve
d. 20,00,000 + 3,00,000 + 0 + 9,000 + 40O + 60 + 8 : Eighty-two million
e. 50[00’000 +0+0+ 2[000 +600+ 10+ 1 E 82006210 82,006,210 six thousand two
4 a 35036 b, 2,00,41,506 : hundred fen
c. 3L4,84,000 © 12, a. L,140 b. 7,680 c. 5,320
5. : d. 23,400 e. 98,440 f. 3,99,000
Number Successor  Predecessor : 13, a. 6,200 b. 6,100 c. 3,800
b. 22969199  2,29,69200  2,29,69,198 ;14 e 5,000 b- 25000~ c. 79,000
c. 87,6500  87,16,501 87,16,499 i d- 54000 e 792000 . 3,05000
6 o > o> C s g - 15 a. X b. LXXVII ¢ CXLVI
7. a. 3,uL,561 <1,18,56,789 < 6,49,08,L01 ;o doCcevl e. CCCXLV . DLXXXIX
<29,87,12,3U5 ¢ 16. a. 14 b. A3 c. 8u d. 255
b. 2,28,34,384 < L4,22,41,222 < 23,71,34,810 : e. 311 f. L6l
<26,99,12,025 : Solving better
8. a. 29,27,22,415>14,92,34,240 > 3,28,61,237 1. a. 10 b.20,00,006 <.1,00,00,000
> 23,414,567 d. 9,76,700; 9,77,000



e. 410 f.
Learning better

5 ten thousand

A. 1. B 2. B 3. C u. A 5 A
B. 1. 3,47,790 7,000
2. 964,815 900,000
3. 6,00,u88 8
4. 733,901 30,000
5. 2,426,571 500
C. 93,40,374 < 2,74,34,837 < 4,93,77,34L
< 8,67,47,545
D. 1. 83,72,881 >78,27,321 > 73,23,882
>67,32,901
2. 5,94,59,344 > 3,04,84,038 > 84,044,347
> 78,149,394
3. 8,63,63,836 > U,67,73,263 > 3,65,28,384
>2,57,87,763
F.
Nearest
Number Nearest 10 Nearest 100 1000
. 35,82,917  35,82,920 35,82,900 35,83,000
. 34,58,789  34,58,790 34,58,800 34,59,000
43,67,360 43,67,400 43,67,000

. 23367433 2,33,67,u30 2,33,67,400 2,33,67,000
. 89253549 8,92,53,550 8,92,53,500 8,92,54,000

1
2
3. 43,67,361
u
5

G. 1. LXXXVII; 87 2. CXCIII; 193
3. CX; 110 4. XLl 41
5. DCCCLXXX; 880 6. LXVI; 66

Thinking better
L3168

Choosing better
e Politely ask the students to move to the play area so

the flowers are not damaged.

Students’ Worksheets

Worksheet 1
A. 1. 94,219,071 — Ninety-four million two hundred
nineteen thousand seventy-one

2. 82,350,925 - Eighty-two million three hundred fifty

thousand nine hundred twenty-five
3. 39,232,510 — Thirty-nine million two hundred
thirty-two thousand five hundred ten

u. 55,527,993 - Fifty-five million five hundred twenty-

seven thousand nine hundred ninety-three

5. 14,705,234 - Fourteen million seven hundred five
thousand two hundred thirty-four

B. 1. 100 2. 98,500 3. 0 hundred
4. 2,00,034 5. 75,00,00,403

C. 1. LXXI 2. CXVII 3. CCXXXVII
L. DXIV 5. CML

Worksheet 2

A. 1. Twenty-four lakh thirty-two thousand eight

hundred seventy-five

5

2. Sixty-seven lakh ninety-nine thousand eight
hundred eighty-five

3. Four crore fifty-nine lakh seventy-five thousand
eight hundred thirty

u. Five crore thirty-one lakh twenty-seven thousand
five hundred twenty-six

5. Seventy-four crore four lakh eight hundred

twelve

greatest smallest
B. 1. 88,88,750 50,00,078

2. 99,99,999 11,11,111

3. 77,77.777 22,22,222

u. 88,88,888 140,00,000

5. 99,99,999 11,11,111

nearest 10 nearest 100
C. 1. 4,140 4,100

2. 21,540 21,500

3. 7,00,170 7.00,200

4. 92,65,790 92, 65,800

5. 1,37,22,510 1,37.22,500

: Worksheet 3
A. 1. Ninety-nine million eight hundred one thousand
three hundred sixty-seven
2. Seventy-six million thirty-one thousand six
hundred fifty-four
3. Thirty-eight million two hundred thirteen
thousand eight hundred seventy-nine
4. Six hundred sixty-eight million seven hundred
ninety-five thousand thirty-five
5. Two hundred eighty-five million six hundred
twenty-two thousand one hundred thirteen
B. 1. 70,028 2. 6,700,005 3. 20,07,015
4. 81,70,004 5. 6,09,40,010
C. 1. L58 2. 8. 3. 312 u 92

Book of Holistic Teaching

. English
A. Ascending - smallest to the biggest
B. Descending - biggest to smallest

5. 265

C. Predecessor - just before
: D Successor - just after

: Science: Granite

: Social Studies: Mountains

Book of Project Ideas

Making better
: Accept allrelevant responses.




S Answers

Theme 1: Why Do We Need Land? : G121 2. 11 3. 20
Lesson-2: Operations with Large Numbers : Th'"';g‘g bde*]*gf
: an
Main coursebOOk E Choosing better
Kinaesthetic . ¢ It helps reduce pollution and

Accept all relevant responses conserves natural resources.

Auditory Students’ Worksheets

§2510 ial : Worksheet 1
ictoria o ) A 1. >c 2. —e 3 —b L —as5 —d
me lsmo”e:;i;‘,j'a” ”Urgber_‘q303 © B 1. 7,78,05.251 2. 90,05,29,252
€ largest 2-digif number = : 3. 47,13,23,680 4. 68,58,9U,455
Sum = 203 + 97 = 300
Difference = 203 - 97 = 106 5. 22,98,01,534
c. 1.0 2. 58,65,42,300

Interacting better

Accept all relevant responses

1. a. 38,56,535 b. 61,82,135 c. 77,29,572
2. a. 6W4,45221 b. U7,12,551 c. 81,90,719

3. 8,23,59,621 u. 1 5. 3,43,86,008

Worksheet 2
A. 1. Subfrahend 2. successor 3. Multiplier

o a 4. Division 5. Predecessor

3. Grecﬂesti7'—d|g|T num_ber—qqcquqq B. 1. 6,69.67,092 2. 7.5L.81,568
gmon_es]foé(-)(%gg number = 1000000 3. 53,67,86,386 L. 88,61,80,767
L,Jm_ . 5. LL,045,29,213 6. 29,12,01,881
Difference = 8999999 c LT 2. Fal 3. Fal 4. False §. Fal
Understanding better (page no 21) . - 1lrue - rase 8 ralse  h.rake . rake
1. No 2. No . Worksheet 3
’ ‘ A 1.0 2.1 3. 13,77.895
u. a. 2,23,u3,234 b. 14,08,466 : w1 5. 81.49,22.897

c. 1.42.77,001 d. 28,97.545 B 1. 145,67,98,033 2. 142,22,66,095

c. 7,83,99,204 : 5. 26,395
6. a. Q=23,125 R=15b. Q=8L480 R=10 . C.

c. Q=04L1,546 R=159 +  340u1,084  2,14,92,625 9,2575570 1,70,36,239
7. @. 830630 b. 45,110 : 1 ¢ Q=573514; Q=23582104; Q=15429261; Q = 28,39,373;
8. a. U1,15,995 b. U4,88,69,514 : R=0 R=1 R=14 R=1

c. 236 d. 35,06,305 : 5 95 Q=137643 Q=859705 Q=37.03022; Q = 681449

e. 61,26,325 ’ R=19 R=0 R =20 R=1u
Understanding better (page no 25) : 3 gy @=101208 Q=632136; Q=27,22810; Q=501,065;
1. 100 2. 125 : ' R=12 R=1 R=30 k=29
Solving better 4 59 Q=68821; Q=1429852 Q=1851,511; Q=3L0,72;

. : R=3u R=25 R=20 R=39
a. > b. = c. = d. <
. Q=239,552; Q=2u7,041; Q=10,64087; Q=1,35818;

e. < f. < 5 87 T RrZe0 R=ug R=1 R=73

Learning better

A 1.B 2. B A 4B 5D Book of Holistic Teaching

3
B. 1.True 2. False 3. True 4. False 5. False : English
c. 1.1,65,53,779 2. 7,61,06,356 : 1. Naveen learns very day.
3. 682,087 4. 92,52,181 P2 1@ve fo solve multiplication word problem:s. )
5.9,79,75,u55 6. 2,12,040 : .
- Science
D. 1.29,72,88,324 2.12,18,76,887 * Heat energy
3. 25,66,63.890 Social Science
E. 1. Q=230912;R=15 . 1. Equator 2. South pole
2. Q=7,69,171; R =81 . 3. Anfarctic Circle
F. 1. 4,35,28,002 2. 6,79,41,205 : Book of ProJECt Ideas
3. 7,52,50,116 L. 7,u86 ; Making better
5. 57,259 Accept all relevant responses.



